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QUESTION 1

Given the code fragment: 

UnaryOperator uo1 = s -> s*2; line n1 

List loanValues = Arrays.asList(1000.0, 2000.0); 

loanValues.stream() 

.filter(lv -> lv >= 1500) 

.map(lv -> uo1.apply(lv)) 

.forEach(s -> System.out.print(s + " ")); 

What is the result? 

A. 4000.0 

B. 4000 

C. A compilation error occurs at line n1. 

D. A compilation error occurs at line n2. 

Correct Answer: D 

 

QUESTION 2

What is true about the java.sql.Statement interface? 

A. It provides a session with the database. 

B. It is used to get an instance of a Connection object by using JDBC drivers. 

C. It provides a cursor to fetch the resulting data. 

D. It provides a class for executing SQL statements and returning the results. 

Correct Answer: D 

Reference: https://docs.oracle.com/cd/E13222_01/wls/docs45/classdocs/java.sql.Statement.html 

 

QUESTION 3

Given the code fragments: 

class TechName { 

String techName; 
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TechName (String techName) { 

this.techName=techName; 

} 

} 

and 

List tech = Arrays.asList ( 

new TechName("Java-"), 

new TechName("Oracle DB-"), 

new TechName("J2EE-") 

); 

Stream stre = tech.stream(); 

//line n1 

Which should be inserted at line n1 to print Java-Oracle DB-J2EE-? 

A. stre.forEach(System.out::print); 

B. stre.map(a-> a.techName).forEach(System.out::print); 

C. stre.map(a-> a).forEachOrdered(System.out::print); 

D. stre.forEachOrdered(System.out::print); 

Correct Answer: B 

 

QUESTION 4

The data.doc, data.txt and data.xml files are accessible and contain text. 

Given the code fragment: 

Stream paths = Stream.of (Paths. get("data.doc"), 

Paths. get("data.txt"), 

Paths. get("data.xml")); 

paths.filter(s-> s.toString().endWith("txt")).forEach( 

s -> { 

try { 

Files.readAllLines(s) 
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.stream() 

.forEach(System.out::println); //line n1 

} catch (IOException e) { 

System.out.println("Exception"); 

} 

} 

); 

What is the result? 

A. The program prints the content of data.txt file. 

B. The program prints: Exception Exception 

C. A compilation error occurs at line n1. 

D. The program prints the content of the three files. 

Correct Answer: A 

 

QUESTION 5

Given: 

interface Doable { 

public void doSomething (String s); 

} 

Which two class definitions compile? (Choose two.) 

A. public abstract class Task implements Doable { public void doSomethingElse(String s) { } } 

B. public abstract class Work implements Doable { public abstract void doSomething(String s) { } public void
doYourThing(Boolean b) { } } 

C. public class Job implements Doable { 

public void doSomething(Integer i) { } 

} 

D. public class Action implements Doable { public void doSomething(Integer i) { } public String doThis(Integer j) { } } 

E. public class Do implements Doable { public void doSomething(Integer i) { } public void doSomething(String s) { }
public void doThat (String s) { } } 

Correct Answer: AE 
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QUESTION 6

Given the code fragment: 

List empDetails = Arrays.asList("100, Robin, HR", 

"200, Mary, AdminServices", 

"101, Peter, HR"); 

empDetails.stream() 

.filter(s-> s.contains("1")) 

.sorted() 

.forEach(System.out::println); //line n1 

What is the result? 

A. 100, Robin, HR 101, Peter, HR 

B. A compilation error occurs at line n1. 

C. 100, Robin, HR 101, Peter, HR 200, Mary, AdminServices 

D. 100, Robin, HR 200, Mary, AdminServices 101, Peter, HR 

Correct Answer: A 

 

QUESTION 7

Which class definition compiles? 
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A. B. C. D. 

Correct Answer: B 

 

 

QUESTION 8

Given: 

interface Rideable {Car getCar (String name); } 

class Car { 

private String name; 

public Car (String name) { 

this.name = name; 

} 

} 

Which code fragment creates an instance of Car? 
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A. Car auto = Car ("MyCar"): : new; 

B. Car auto = Car : : new; Car vehicle = auto : : getCar("MyCar"); 

C. Rideable rider = Car : : new; Car vehicle = rider.getCar("MyCar"); 

D. Car vehicle = Rideable : : new : : getCar("MyCar"); 

Correct Answer: C 

 

QUESTION 9

Given: 

class Book { 

int id; 

String name; 

public Book (int id, String name) { 

this.id = id; 

this.name = name; 

} 

public boolean equals (Object obj) { //line n1 

boolean output = false; 

Book b = (Book) obj; 

if (this.name.equals(b name))} 

output = true; 

} 

return output; 

} 

} 

and the code fragment: 

Book b1 = new Book (101, "Java Programing"); 

Book b2 = new Book (102, "Java Programing"); 

System.out.println (b1.equals(b2)); //line n2 

Which statement is true? 
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A. The program prints true. 

B. The program prints false. 

C. A compilation error occurs. To ensure successful compilation, replace line n1 with: boolean equals (Book obj) { 

D. A compilation error occurs. To ensure successful compilation, replace line n2 with: System.out.println
(b1.equals((Object) b2)); 

Correct Answer: A 

 

 

QUESTION 10

Which two statements are true about the Fork/Join Framework? (Choose two.) 

A. The RecursiveTask subclass is used when a task does not need to return a result. 

B. The Fork/Join framework can help you take advantage of multicore hardware. 

C. The Fork/Join framework implements a work-stealing algorithm. 

D. The Fork/Join solution when run on multicore hardware always performs faster than standard sequential solution. 

Correct Answer: AC 

Reference: https://www.logicbig.com/tutorials/core-java-tutorial/java-multi-threading/fork-and-join.html 

 

QUESTION 11

Given the code fragments: 

4. 

void doStuff() throws ArithmeticException, NumberFormatException, Exception { 

5. 

if (Math.random() >-1 throw new Exception ("Try again"); 

6. 

} 

and 

24. 

try { 

25. 
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doStuff ( ): 

26. 

} catch (ArithmeticException | NumberFormatException | Exception e) { 

27. 

System.out.println (e.getMessage()); } 

28. 

catch (Exception e) { 

29. 

System.out.println (e.getMessage()); } 

30. 

} 

Which modification enables the code to print Try again? 

A. Comment the lines 28, 29 and 30. 

B. Replace line 26 with: } catch (Exception | ArithmeticException | NumberFormatException e) { 

C. Replace line 26 with: } catch (ArithmeticException | NumberFormatException e) { 

D. Replace line 27 with: throw e; 

Correct Answer: C 

 

QUESTION 12

Given the code fragment: 

Which should be inserted into line n1 to print Average = 2.5? 

A. IntStream str = Stream.of (1, 2, 3, 4); 

B. IntStream str = IntStream.of (1, 2, 3, 4); 

C. DoubleStream str = Stream.of (1.0, 2.0, 3.0, 4.0); 

D. Stream str = Stream.of (1, 2, 3, 4); 

Correct Answer: C 
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QUESTION 13

Which two are elements of a singleton class? (Choose two.) 

A. a transient reference to point to the single instance 

B. a public method to instantiate the single instance 

C. a public static method to return a copy of the singleton reference 

D. a private constructor to the class 

E. a public reference to point to the single instance 

Correct Answer: BD 

 

QUESTION 14

Given the code fragment: 

Map books = new TreeMap(); 

books.put (1007, "A"); 

books.put (1002, "C"); 

books.put (1001, "B"); 

books.put (1003, "B"); 

System.out.println (books); 

What is the result? 

A. {1007 = A, 1002 = C, 1001 = B, 1003 = B} 

B. {1001 = B, 1002 = C, 1003 = B, 1007 = A} 

C. {1002 = C, 1003 = B, 1007 = A} 

D. {1007 = A, 1001 = B, 1003 = B, 1002 = C} 

Correct Answer: B 

Reference: TreeMap inherits SortedMap and automatically sorts the element\\'s key 

 

QUESTION 15

Given the code fragments: 

class Employee { 
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Optional address; 

Employee (Optional address) { 

this.address = address; 

} 

public Optional getAddress() { return address; } 

} 

class Address { 

String city = "New York"; 

public String getCity { return city: } 

public String toString() { 

return city; 

} 

} 

and 

Address address = new Address; 

Optional addrs1 = Optional.ofNullable (address); 

Employee e1 = new Employee (addrs1); 

String eAddress = (addrs1.isPresent()) ? addrs1.get().getCity() : "City Not available"; 

System.out.println(eAddress); 

What is the result? 

A. New York 

B. City Not available 

C. null 

D. A NoSuchElementException is thrown at run time. 

Correct Answer: C 
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